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IMPORTANT INSTRUCTIONS
‘This Booklet has a cover ( this page } which should not be opened till the invigilator gives signal
to open it at the commencement of the exarpination. As soon as the signal is received you should
tear the right side of the booklet cover carefully to open the booklet. Then proceed to answer the
questions. '
This Question Booklet contains 200 questicns.

. Answer all questtons. All questions carry equal marks.

The Test Booklet is printed in four series e.g. @ [ B||Cjor|Dj(See Top left side of this
page ). The candidate has to indicate in the space provided in the Answer Sheet the series of the
booklet. For example, if the candidate gets [E series booklet, he/she has to indicate in the
side 2 of the Answer Sheet with Blue or Black Ink Ball point pen as follows :

[A] Bl (Cl (D]

You must write your Register Number in the space provided on the top right side of this page. Do
not write anything else on the Question Booklet,

An Answer Sheet will he supplied to you separately by the Invigilator to mark the answers. You
must write your Name. Register No. and other particulars on side 1 of the Answer Sheet
provided. failing which your Answer Sheet will not be evaluated.

You will also encode your Register Number. Subject Code etc., with Blue or Black ink Ball point
pen in the space provided on the side 2 of the Answer Sheet. If you do not encode properly or fail
to encode the above information, your Answer Sheet will not be evaluated. ‘

Each question comprises four responses (A), (13). (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE
response for each guestion. Your total marks will depend on the number of correct responses
marked by you in the Answer Sheet.

In the Answer Sheet there are four brackers [ All B 1 C ] and [ D} against each question. To
answer the questions you are to mark with Ball point pen ONLY ONE bracket of your choice for
each question. Select one response for each question in the Question Bogklet and mark in the
Answer Sheet. If you mark more than one answer for one question, the answer will be treated as
wrong. e.g. li for any item, (B) is the correct answer, you have to mark as foliows :

(Al (C]ID]

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to
take this Question Booklet and the Answer Sheet cut of the Examination Hall during the

examination. After the examination is concluded, you rnust hand over your Answer Sheet to the

Invigilator. You are allowed to take the Question Booklet with you only after the Examination is
Over, : '
Failure to comply with any of the above instructions will render you liable to such action or
penalty as the Commission may decide at thelr discretion.

Do not tick-mark or mark the answers in the {uestion Booklet:

The sheet before the last. page of \he (Juestion Booklet can be used for Rough Work.
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3 QEME

1. If the sum of all the forces acting on a body is zero, it may be concluded that
the body

" Al must be in equilibrium
B] cannot be in equilibrium
Q) may be in équillbrlur_n provided the forces are concurrent

D) may be in equilibrium provided the forces are parallel.

2. IfU,and U, are the velocities of approach of two moving bodies in the same
direction and their corresponding velocities of separation are V ; and V 5, then

as per Newton's law of collision of elastic bodies, the coefficient of restitution e

is given by

V-V, _ Uy-U,
A e=g,-T, B e=v,-v,
C e-*["}":;_—U“; D) e=tm'

3. Abody of weight W is required to move up on rough inclined plane whose angle
' of inclination with the horizontal is o. The effort applied parallel to the plane is

given by
A P=Wtana B} P=Wtan(a+ ¢}
C) P=W(sm.a+ucoSa} D) P=W{(cosa+usina)

where 1 = tan ¢ = coefficient 61' friction.
4. A screw jack used for lifting the load is
A} a reversible machine ) B) ) non-reversible machine
C) an ideal machine D) none of these.
5. Inideal machines
A}  mechanical advantage is .greater than velocity ratio
B) mechanical édvantage is: equal Yo velocity ratio |
C). mechanical advantage is less than velocity ratio

D} mechanical advantage is unity.
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6. Fox:':;:l self-locking lifting machine, the efficiency must be
A  50% | B) more than 50%
C) less than 50% D) 100%
7.  Pick out the correct state'lﬁent :
A) The path traced by a projectlle is trajectory.
B) The area under v-t dlagram is t_:.oceleraﬂon.
C) Efficlency of simple machine is velocity ratio / mechanical adva_htage.
D) If-efficiency is < 50%, that simple machine is reversible.
8. A couple produces
A) translatory motion
B) rotational motion
C) combined translatory and rotational motions
D) ‘none of these.
9. Statc friction is always
A less than dynamic friction
B} equal to dynamic friction
C) greater than dynamic friction
D) has no relation with dynamic friction.

10. If a body is moving with a uniform acceleration ( a ), then final velocity ( v ) of
the body after time ( t) 1s equal to_ '

A ut+ % at 2 B) u+at
C u2+2as D) none of these
where u = initial velocity

s = distance travelled in t seconds.
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